SAP ABAP table ECAMIOPRCIMR MID {IS-U Parking: Scrn.Data f. Conts./Insts./Mt.Rd.Res. (Mv-In)}

ECAMIOPRCIMR MID-SECWAIVEREAS = ESECWR-SECWAIVEREAS ESECWR

s 0..N' | MANDT [CLNT (3)]

- SECWAIVEREAS [CHAR (4)]

_ -7 ESERVPROV

MANDT [CLNT (3)]
SERVICEID [CHAR (10)]

ESERVPROV_PAY

MANDT [CLNT (3)]

SERVPROV_PAY [CHAR (4)]

____________________________ TE115
“““““ 0. 7N | MANDT [CLNT (3)]
ABLESER [CHAR (3)]

______ TE259
_______ 0.N | MANDT [CLNT (3)]
ABLHINW [CHAR (4)]

TE523

MANDT [CLNT (3)]
ZWART [CHAR (2)]

TFK_SEC_REASON

MANDT [CLNT (3)]
REASON [CHAR (4)]




